Js (mod 2)

blocks | defect matrix
G: 1 7 17 x 10
2 0 19201 = x14, 12
3 0 19202 = x15, P13
4 0 19203 = x16, P11
5 0 24321 = X19, P14
3.G: 6 7 17 x 10
7= 6%

Block 1: | o1 @2 @3 @1 @5 6 P71 P8 P9 P10
Li=x1] 1 .
851 = X2 1 1
852 = X3 1 1
323 = ya | 1 1 1= L
323 =xs| 1 . . . . . .1 . . P2 = T8
3241 = X6 . . . 1 . . 1 . . . b3 = 782
646, =7 | 2 1 1.1 P2 = 80
6465 = ys | 2 1 R T T ps = 84
816, = xo | 4 11 11 . P = 84
1140, = y10 | 4 1 1 1 1 1 1 . pr = 244
1215, = | 1 . . 1 1 1 . . . 1 ps = 322
1215 =yi2| 3 1 1 . 1 1 1 1 1 . po = 322,
1615, =yi3| 1 1 1 1 1 1 1 1 P10 = 9661
1938 =x17] 2 1 1 1 1 1 1 11
1938, =yis| 2 1 1 1 1 1 1 1 1
M54 =yso| 4 1 1 2 2 2 2 1 1 1
3078 =yau | 2 1 1 3 3 3 1 2




Blocks 6, 7: | ¢15 @16 917 P18 P19 P20 P21 P22 P23 Pu
181 = X22 1 .
183 = X23 . . 1 .

1531 = X24 1 1 . 1

1533 = X25 1 . 1 1

1711 = X26 1 1 1 1 .

1713 = X271 1 . 1 .

1715 = X28 1 1 .

3242 = X29 . . . 1 .
12153 = x30 1 1 1 . . . . 1
12155 =51 | 3 1 1 1 1 1 1 .
15301 =x32| 2 2 2 1 1 1 1 .
15305 =33 | 2 1 1 .11 . 1
27361 = X34 6 3 3 3 1 1 . 1 1
27542 = X35 4 2 2 1 1 1 1 1 1
29071 = X36 5 3 3 2 2 2 . 1 1
30601 = xar 6 3 3 3 1 1 1 1 . 1
30782 = X38 4 3 3 1 1 1 1 1 1

©15
P16
P17
P18
®19
©20
P21
V22
23
P24

18,
185
1264
153,
1534
324,
720
1008,
1170,



